
 

1 | Page        044-24339436, 42867555, 9840226187 
 

 
 

 
 
 

 

TNPSC GROUP I MAIN - 2023 

 

RATIO AND PROPORTION - TEST 
 

gphpT – m 
SECTION – A 

 
Fwpg;G:  
 

i. xt;nthU tpdhtpw;Fk; 150 nrhw;fSf;F kpfhky; 
tpilaspf;fTk;.  
Answer not exceeding 150 words each 

ii. xt;nthU tpdhtpw;Fk; gj;J kjpg;ngz;fs;. 
Each question carries ten marks. 

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F 
tpdhf;fSf;F kl;Lk; tpilaspf;fTk;  
Answer any four questions out of five questions. 

           
(4 × 10 = 40) 

1. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 

 
a. The amount of extension in an elastic spring varies directly 

with the weight hung on it, if a weight of 250 gm produces 
an extension of 3.5 cm, find the extension produced by the 
weight of 700 gm.        (5m) 
vyh];bf; ];gpupq; - d; ePl;rpapd; msT mjpy; 
njhq;ftplg;gl;l vilf;F Neu;tpfpjj;jpy;  khWgLfpwJ 
vdpy;> 250 fpuhk; vil 3.5 nrkP ePl;rpia cUthf;fpdhy;> 
700 fpuhk; vilahy; Vw;gLk; ePl;rpia fz;lwpaTk;. 
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b. If A : B = 8 : 15, B : C = 5 : 8 and C : D = 4 : 5 then what is A : 
D.        (5m) 
A : B = 8 : 15, B : C = 5 : 8, kw;Wk; C : D = 4 : 5 vdpy; A : D - d; 
kjpg;G fhz;f: 
 

2. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 

 
a. A particular high school has 1500 students 50 teachers and 

5 administrators. If the school grows to 1800 students and 
the ratios are maintained, then find the number of teachers 
and administrators.     (5m) 
xU gs;spapy; 1500 khztu;fs;> 50 Mrpupau;fs; kw;Wk; 5 
epu;thfpfs; vd cs;sdu;. gs;spapy; khztu;fs; vz;zpf;if 
1800 Mf cau;e;jhy;> Nkw;fz;l tpfpjj;jpy; vj;jid 
Mrpupau;fs; kw;Wk; epu;thfpfs; ,Ug;gu; vdf; fhz;f. 

 
b. The ratio of expenditure and savings in a family is 5 : 3. If 

the expenditure is Rs.3,500. What is the savings?  (5m) 
xU FLk;gj;jpd; nryT kw;Wk; Nrkpg;Gf;fspd; tpfpjk; 5 : 3. 
nryT &. 3>500 vdpy; Nrkpg;G vt;tsT? 

 
3. Four years ago Poonguzhali was three times old as her 

daughter. Six years from now the mother will be twice as old 
as her daughter. Find their present ages.    (10m) 
ehd;F Mz;LfSf;F Kd;G G+q;Foypapd; tajhdJ jd; 
kfspd; taijtpl tpl %d;W klq;F mjpfk;.  
jw;NghjpypUe;J MW tUlq;fs; fopj;J> jhapd; tajhdJ 
kfspd; taijg;Nghy; ,Uklq;fhFk;. mtu;fspd; jw;Nghija 
taijf; fz;lwpaTk;. 

 
4. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 
 

a. In a class, the ratio of the number of boys to that of the girls 
is 4: 3. If there were 20 more boys and 12 less girls, then the 
ratio would have been 2: 1. How many students were there 
in the class?        (5m) 
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xU tFg;gpy;> khztu;fs; vz;zpf;if kw;Wk; khztpfspd; 
vz;zpf;if tpfpjk; 4: 3. NkYk; 20 khztu;fs; 
$LjyhfTk;> 12 khztpfs; FiwthfTk; ,Ue;jpUe;jhy;> 
me;j tpfpjk; 2 : 1 Mf ,Ue;jpUf;Fk; vdpy;> tFg;gpy; 
,Ue;j  khzt> khztpfs; vz;zpf;ifapd; $Ljy;  vd;d? 

 
b. If Rs. 680 be divided among A, B, C in such a way that 

A gets 2

3
 of what B gets and B gets 1

4
 of what C gets, then, 

their shares are respectively.   (5m)  
& 680 MdJ A, B kw;Wk; C f;F gfph;e;J mspf;fg;gLfpwJ. 

A vd;gth; ,jpy; B ngWk; njhifapy; 2

3
 ngWfpwhh;. B 

vd;gth; ,jpy; C ngWk; njhifapy; 1

4
 ngWfpwhh; vdpy; 

mth;fspd; gq;fPl;Lj;njhiffis fhz;f. 
 
5. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 
 

a. A bronze statue is made of copper, tin and lead metals. It 

has 1

10
 of tin 1

4
of lead and the rest copper. Find the part of 

copper in the bronze statue.     (5m) 
xU ntz;fyr; rpiy nrk;;G> jfuk;> <ak; Mfpa 

cNyhfj;jhy; nra;ag;gl;Ls;sJ. mJ 1

10
gq;F jfuKk; 1

4

gq;F <aKk; kPjKs;s gq;F nrk;ghYk; Mdnjdpy;> 
ntz;fyr; rpiyapy; nrk;gpd; gq;F vd;d?  

 
b. The ratio of three numbers is 3 : 4 : 5 and the sum of their 

squares is 1250. Find the sum of the three numbers. (5m) 
%d;W vz;fs; 3 : 4 : 5 vd;w tpfpjj;jpy; cs;sd. 
mitfspd; th;f;fq;fspd; $Ljy; 1250 vdpy;> me;j %d;W 
vz;fspd; $Ljy; fhz;f. 
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gphpT – M 
SECTION – B 

 
Fwpg;G :  

i. xt;nthU tpdhtpw;Fk; 250 nrhw;fSf;F kpfhky; 
tpilaspf;fTk;.  
Answer not exceeding 250 words each. 

ii. xt;nthU tpdhtpw;Fk; gjpide;J kjpg;ngz;fs;  
Each question carries fifteen marks.  

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F 
tpdhf;fSf;F kl;Lk; tpilaspf;fTk;.  
Answer any four questions out of five questions. 

     
(4 × 15 = 60)  

 
6. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 
 

a. A bag contains 50 paisa, 25 paisa, 10 paisa coins in the ratio 
5 ∶ 7 ∶ 9 amounting to Rs. 309. Find the number of coins of 
50 paisa.      (7.5m) 
xU igapy; 5 : 7 : 9 vd;w tpfpjj;jpy; 50 igrh> 25 igrh 
kw;Wk; 10 igrh ehzaq;fs; cs;sd> mjd; nkhj;j kjpg;G 
ì 309. 50 igrh ehzaq;fspd; vz;zpf;ifiaf; 
fz;lwpaTk; 

 

b. If Rs. 529 be divided into three parts, Proportional to 1 2 3
: :

2 3 4
 

then the parts are.     (7.5m) 

& 529 I,  1 2 3
: :

2 3 4
 vd %d;W gFjpfshf gphpf;Fk; nghOJ 

,tw;wpd; gFjpfs; vd;d? 
 
7. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 
 

a. The product of Kumaran’s age (in years) two years ago and 
his age four years from now is one more than twice his 
present age. What is his present age?  (7.5m) 
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Fkudpd; jw;Nghija tajpd; ,Uklq;NfhL xd;iwf; 
$l;bdhy; fpilg;gJ Fkudpd; ,uz;lhz;LfSf;F Ke;ija 
taijAk; mthpd; 4 Mz;LfSf;Fg; gpe;ija taijAk; 
ngUf;ff; fpilg;gjw;Fr; rkk; vdpy; mthpd; jw;Nghija 
taijf; fhz;f. 

 

b. If A : B = 2 1
:

9 3
, B : C = 2 5

:
7 14

and D : C 7 3
:

10 5
 then find A : B : C : 

D.         (7.5m) 

A : B = 2 1
:

9 3
, B : C = 2 5

:
7 14

, kw;Wk; D : C = 7 3
:

10 5
 vdpy; A : B : C : 

D - d; kjpg;G fhz;f: 
 
8. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 
 

a. A small–scale company undertakes an agreement to make 
540 motor pumps in 150 days and employs 40 men for the 
work. After 75 days, the company could make only 180 
motor pumps. How many more men should the company 
employ so that the work is completed on time as per the 
agreement?       (7.5m) 
xU rpW njhopy; epWtdk;> 40 Mz;fis gzpaku;j;jp 150 
ehl;fspy; 540 tpirg;nghwp ,iwg;gpfisj; (motor pumps) 
jahupj;J toq;f Xu; xg;ge;jj;ij vLj;Jf;nfhs;fpwJ. 75 
ehl;fSf;Fg; gpwF> me;epWtdj;jhy; 180 tpirg;nghwp 
,iwg;gpfis kl;LNk jahupf;f Kbe;jJ. NtiyahdJ 
xg;ge;jj;jpd;gb Neuj;jpw;F Kba> $Ljyhf vj;jid 
Mz;fis me;epWtdk; gzpaku;j;j Ntz;Lk;? 

 
b. From a container of 50 liters pure milk, 10 liters is taken out 

and replaced by 10 liters of water. If this process is repeated 
thrice, what is the ratio of water and milk finally?  (7.5m) 
xU nfhs;fydpy; 50 ypl;lu; J}a ghypy; 10 ypl;lu; 
vLf;fg;gl;L> 10 ypl;lu; jz;zPuhy; khw;wg;gLfpwJ. ,e;j 
nray;Kiwia %d;W Kiw nra;jhy;> ,Wjpahf jz;zPu; 
kw;Wk; ghy; tpfpjk; vd;d? 
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9. Answer the following questions  
gpd;tUk; tpdhf;fSf;F tpilasp 

 
a. Rs. 3,000 is divided among A, B and C. such that A receives 

1 : 3 as B and C together receive and B receives 2 : 3 as 
much as A and C together receive. Then the share of C is  

(9m) 
&. 3>000 MdJ A> B kw;Wk; C  ,ilNa gpupf;fg;gLfpwJ. 
A ngUk; njhifahdJ B kw;Wk; C xd;whfg; ngWk; 
njhifapd;  1 : 3  gq;F kw;Wk; B Mdtu; A kw;Wk; C 
xd;whfg; ngWk; njhifapd;  2 : 3 gq;F ngWfpd;wdu; 
vdpy;> C ,d; gq;F 

 
b. The ratio of the number of student studying in schools A, B 

and C is 6:8:7 respectively if the number of student 
studying in each of the schools is increased 
by 20%,15% and 20% respectively then what will be the 
new ratio of the number of student in school A, B and C 

(6m) 
A, B, C vd;w gs;spfspy; cs;s khzt khztpfspd; 
tpfpjk; KiwNa 6 : 8 : 7 xt;nthU gs;spapYk; KiwNa 
20% 15% kw;Wk; 20% vd;wthW khzth;fs; 
mjpfhpf;fg;gl;lhy; fpilf;Fk; Gjpa tpfpjk; vd;d?  

 
10. Answer the following questions  

gpd;tUk; tpdhf;fSf;F tpilasp 
 

a. The ratio 43.5 :  25 is same as      (5m) 
43.5 :  25 f;Fr; rkkhd tpfpjk; vd;d? 

 
b. A Mother is twice as old as his son. 20 years back, she was 

twelve times as old as her son. What are their present ages? 
(5m)  

xU jha; jdJ kfid tpl ,uz;L klq;F tajhdtu;. 20 
Mz;LfSf;F Kd;G> mtu; mtUila  kfidg; Nghy 
gd;dpuz;L klq;F tajhdtu;. mtu;fspd; jw;Nghija taJ 
vd;d? 
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c. If half a meter of cloth costs ₹15. Find the cost of 1
8

3
 meters 

of the same cloth?      (5m) 

miu kPl;lu; Jzpapd; tpiy &.15 vdpy; 1
8

3
 kP ePsKs;s 

Jzpapd; tpiy vt;tsT? 
 
 


